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TZESIA 10,897,000 10,897,000}~
BEIARAS() 10,897,000 10,897,000
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AEERH 6,706,000 7,083,316 A 377,316
g =Rhey o 2,643,000 2,959,500 A 316,500
BTN 1,236,000 1,309,808 A 73,808
E% 2,072,000 2,011,302 60,698
BEBEFHE 134,000 134,100 A 100
EEENE 621,000 668,606 A 47,606
wnmEy | 20,000 12,169 7,831
REHNELE 20,000 12,169 7,831
4,171,000 3,801,515 369,485
e 10,000 550 9,450
s 20,000 0 20,000
|arne 372,000 239,279 132,721
HEMRE 0 79,500 A 79,500
S KE 890,000 791,535 98,465
e i 188,000 142,924 45,076
i 2%y 280,000 327,543 A 47,543
ErEs 50,000 76,650 A 26,650
BISENRE 75,000 53,537 21,463
EBERE 1,912,000 1,733,560 178,440
FHH 80,000 69,831 10,169
BEREK 186,000 186,506 A 506
BN 108,000 100,100 7,900
BEREIH @) 10,897,000 10,897,000{ < 0
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